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Missing Decimals

Calculate and find the missing decimals.
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= 0.04 ) (
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= 6.25
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= -0.125
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3
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= 0.64 ) (
2 

= 0.49

) (
3 

= 0.216 ) (
3 

= 0.729) (
2 

= 1.69
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= 0.512 ) (
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= 0.216) (
2

= 7.29

) (
1

= 4.3 ) (
0 

= 1 ) (
1

= -0.4
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Answers

Calculate and find the missing decimals.

) 0.2(
2 

= 0.04 ) 2.2(
3 

= 10.648) -2.5(
2 

= 6.25

) 1.2(
3 

= 1.728 ) 1.5(
2 

= 2.25) -0.4(
2 

= 0.16

) 0.3(
2 

= 0.09 ) 0.1(
3 

= 0.001 ) -0.5(
3 

= -0.125

) 0.3(
3 

= 0.027 ) 1.8(
2 

= 3.24) -2.3(
3

= -12.167

) 0.7(
3 

= 0.343 ) 7.5(
2 

= 56.25) -4.4(
2 

= 19.36

) 2.9(
3 

= 24.389 ) 0.8(
2 

= 0.64 ) -0.7(
2 

= 0.49

) 0.6(
3 

= 0.216 ) 0.9(
3 

= 0.729) -1.3(
2 

= 1.69

) 0.8(
3 

= 0.512 ) 0.6(
3 

= 0.216) -2.7(
2

= 7.29

) 4.3(
1

= 4.3 ) 5.5(
0 

= 1 ) -0.4(
1

= -0.4


